il ® e £ #® RS = e
AR TREMER IR AR IREMHER TR
SMbE | HA4E | BE | HMEE | HM4FE | BE | HME6E | SM4E| EE | SHWSF | SM4E| HE | SMLE | HMA4E| BE | SM5EE | SM4E | BR

B T # %] 9,230 8,007 1,223 3,907 3,684 223 42.3 46.0 -3.7 80 71 9 78 71 7 97.5 100.0 2.5
54 o | 4,552 3,760 792 1,746 1,537 209 38.4 40.9 -2.5 40 29 11 39 29 10 97.5 100.0 -2.5

PR A 2,594 2,145 449 990 849 141 38.2 39.6 -1.4 23 14 9 23 14 9 100.0 100.0

5 bHhX 638 530 108 231 215 16 36.2 40.6 -4.4 3 6 -3 3 6 -3 100.0 100.0

5 bHEK 377 269 108 152 142 10 40.3 52.8 -12.5 1 3 -2 1 3 -2 100.0 100.0

SbEKX 943 816 127 373 331 42 39.6 40.6 -1.0 13 6 7 12 6 6 92.3 100.0 7.7
' Z b 2,470 2,323 147 1,034 1,031 3 41.9 44.4 -2.5 11 13 -2 11 13 -2 100.0 100.0
b= TR ) 433 342 91 231 203 28 53.3 59.4 -6.1 3 7 -4 3 7 -4 100.0 100.0
E - 173 170 3 76 78 -2 43.9 45.9 -2.0 3 2 1 2 2 66.7 100.0 -33.3
£ ® W 168 127 41 66 64 2 39.3 50.4 -11.1 4 4 4 4 100.0 - 100.0
F R 0™ 100 119 -19 49 80 -31 49.0 67.2 -18.2 3 -3 3 -3 - 100.0 | -100.0
F S ) 237 198 39 87 105 -18 36.7 53.0 -16.3 2 -2 2 -2 - 100.0 | -100.0
5 2 W 64 59 5 38 34 4 59.4 57.6 1.8 1 1 1 1 100.0 - 100.0
R W 50 54 -4 28 37 -9 56.0 68.5 -12.5 1 -1 1 -1 - 100.0 | -100.0
s @1 ™ 104 113 -9 63 38 25 60.6 33.6 27.0 3 1 2 3 1 2 100.0 100.0
b= I ) 133 119 14 68 50 18 51.1 42.0 9.1 1 1 1 1 100.0 100.0
T S 1 115 73 42 58 33 25 50.4 45.2 5.2 1 1 1 1 100.0 100.0
E E W 111 94 17 57 61 -4 51.4 64.9 -135 3 2 1 3 2 1 100.0 100.0
£ fF 0wW 74 82 -8 48 44 4 64.9 53.7 11.2 1 -1 1 -1 - 100.0 | -100.0
b= R 100 63 37 41 41 41.0 65.1 -24.1 3 3 3 3 100.0 - 100.0
R AR AT 50 36 14 26 22 4 52.0 61.1 -9.1 1 -1 1 -1 - 100.0 | -100.0
HMEME S AT 51 62 -11 29 17 12 56.9 27.4 29.5 2 2 2 2 100.0 100.0
& O ER Bk |y 32 25 7 13 14 -1 40.6 56.0 -15.4 1 4 -3 1 4 -3 100.0 100.0
NNy N i) 40 29 11 15 18 -3 37.5 62.1 -24.6 1 1 1 1 100.0 - 100.0
& JE AR # A 1 1 1 -1 100.0 | -100.0 - -
& M AR 8 27 A7 26 17 10 18 -8 38.5 105.9 -67.4 - -
P FH AR B o0 T 29 21 13 10 3 44.8 47.6 -2.8 1 1 1 1 100.0 - 100.0
f% B AB 5% & A7 6 6 4 5 -1 66.7 83.3 -16.6 1 1 1 1 100.0 - 100.0
EHEFEERN 3 2 1 3 2 1 100.0 100.0 1 -1 1 -1 - 100.0 | -100.0
AKEBBAKFIHET 7 10 -3 4 8 -4 57.1 80.0 -22.9 - -
A K BB 3% K ET 21 10 11 16 7 9 76.2 70.0 6.2 - -
NS BB 2 o SR T 18 27 -9 10 17 -7 55.6 63.0 -7.4 1 1 1 1 100.0 - 100.0
TH - BENE 62 65 -3 74 109 -35 119.4 167.7 -48.3 - -




il £ e % = el
AR TREMER IR AR IREMHER TR
SMbE | HA4E | BE | HMEE | HM4FE | BE | HME6E | SM4E| EE | SHWSF | SM4E| HE | SMLE | HMA4E| BE | SM5EE | SM4E | BR

B T #® O 883 790 93 776 723 53 87.9 91.5 -3.6 6,502 5,495 1,007 2,163 2,004 159 333 36.5 -3.2
54 (ITI—) 373 326 47 334 289 45 89.5 88.7 0.8 3,338 2,722 616 958 855 103 28.7 31.4 2.7

5 bt 191 172 19 173 151 22 90.6 87.8 2.8 1,964 1,598 366 562 462 100 28.6 28.9 -0.3

5 bHhX 56 39 17 45 41 4 80.4 105.1 -24.7 461 379 82 121 113 8 26.2 29.8 -3.6

S bHbHEK 37 42 -5 29 37 -8 78.4 88.1 -9.7 277 175 102 87 80 7 31.4 45.7 -14.3

SbEKX 89 73 16 87 60 27 97.8 82.2 15.6 636 570 66 188 200 -12 29.6 35.1 -5.5
B % m 248 228 20 208 209 -1 83.9 91.7 -7.8 1,799 1,592 207 645 604 41 35.9 37.9 -2.0
b= TR ) 53 59 -6 48 54 -6 90.6 91.5 -0.9 269 200 69 129 102 27 48.0 51.0 -3.0
E - 16 20 -4 14 17 -3 87.5 85.0 25 112 101 11 44 40 4 39.3 39.6 -0.3
£ ® W 10 12 -2 12 13 -1 120.0 108.3 11.7 110 90 20 35 40 -5 31.8 44.4 -12.6
F R 0™ 10 14 -4 10 14 -4 100.0 100.0 61 62 -1 25 35 -10 41.0 56.5 -15.5
F S ) 34 16 18 26 18 8 76.5 112.5 -36.0 164 146 18 43 68 -25 26.2 46.6 -20.4
m R W 7 10 -3 6 9 -3 85.7 90.0 -4.3 44 35 9 22 21 1 50.0 60.0 -10.0
R W 4 10 -6 5 10 -5 125.0 100.0 25.0 29 30 -1 15 21 -6 51.7 70.0 -18.3
5 &1 14 8 6 15 8 7 107.1 100.0 7.1 60 84 -24 33 17 16 55.0 20.2 34.8
b= I ) 11 11 11 10 1 100.0 90.9 9.1 97 90 7 41 34 7 42.3 37.8 45
~ B W 11 9 2 8 9 -1 72.7 100.0 -27.3 78 42 36 34 15 19 43.6 35.7 7.9
E E W 17 14 3 15 12 88.2 85.7 2.5 62 51 11 27 29 -2 435 56.9 -13.4
£ fF 0wW 16 11 5 13 10 81.3 90.9 -9.6 34 52 -18 22 24 -2 64.7 46.2 185
b= R 13 8 5 11 6 5 84.6 75.0 9.6 67 41 26 19 25 -6 28.4 61.0 -32.6
R AR AT 5 8 -3 3 10 -7 60.0 125.0 -65.0 38 21 17 19 10 50.0 47.6 2.4
HMEME S AT 9 3 6 8 3 5 88.9 100.0 -111 25 36 -11 11 7 44.0 19.4 24.6
& O ER Bk |y 5 3 2 3 3 60.0 100.0 -40.0 12 16 -4 2 5 -3 16.7 31.3 -14.6
NNy N i) 5 3 4 3 1 80.0 100.0 -20.0 26 21 5 6 12 -6 23.1 57.1 -34.0
B E B AT E AT - - 1 1 -
& M AR 8 27 A7 3 3 3 4 -1 100.0 133.3 -33.3 17 10 7 5 11 -6 29.4 110.0 -80.6
P FH AR B o0 T 4 1 3 3 1 2 75.0 100.0 -25.0 15 15 7 6 1 46.7 40.0 6.7
f FH AR 5 % HT 2 2 1 2 -1 50.0 100.0 -50.0 2 4 -2 1 3 -2 50.0 75.0 -25.0
EHEFEERN 1 1 1 1 100.0 100.0 2 2 1 1 50.0 - 50.0
AKEBBAKFIHET 1 1 1 1 100.0 - 100.0 3 4 -1 1 2 -1 33.3 50.0 -16.7
A K BB 3% K ET 6 3 3 6 3 3 100.0 100.0 13 7 6 9 3 6 69.2 42.9 26.3
NS BB 2 o SR T 1 3 -2 1 3 -2 100.0 100.0 12 20 -8 7 12 -5 58.3 60.0 -1.7
TEH RN 4 4 6 2 4 150.0 50.0 100.0 12 3 9 2 3 -1 16.7 100.0 -83.3




1 e B 2 (& B
AL REAEL REK AL REAEL REEK
SMSF | HM4FE| EE | SMOF | HM4AE| |E | HWSF | HM4E | EE | SWSF | SM4E | EE | SWSFE | HM4E | BE | SMWSF | SMAE | ERE
B F O# % 496 427 69 268 289 -21 54.0 67.7 -13.7 132 102 30 121 92 29 91.7 90.2 15
[z th bl 199 140 59 110 82 28 55.3 58.6 -3.3 68 49 19 60 46 14 88.2 93.9 -5.7
2 b 88 73 15 63 49 14 71.6 67.1 4.5 34 27 29 26 3 85.3 96.3 -11.0
YL HK 34 22 12 15 13 2 441 59.1 -15.0 13 10 9 9 69.2 90.0 -20.8
b EREKX 17 12 5 12 7 5 70.6 58.3 12.3 5 3 6 2 4 120.0 66.7 53.3
YHLEK 60 33 27 20 13 7 33.3 39.4 -6.1 16 9 16 9 7 100.0 100.0
B # L 121 143 -22 50 62 -12 41.3 43.4 -2.1 23 27 -4 23 22 1 100.0 81.5 18.5
= th bl 31 17 14 11 7 4 355 41.2 -5.7 6 4 2 6 5 1 100.0 125.0 -25.0
= % bl 12 13 -1 5 2 3 41.7 15.4 26.3 - -
kv fiE) bl 19 5 14 2 4 -2 10.5 80.0 -69.5 10 10 9 9 90.0 - 90.0
#* = L 13 14 -1 4 13 -9 30.8 92.9 -62.1 1 -1 - -
8 #t bl 8 6 2 5 4 1 62.5 66.7 -4.2 2 1 1 2 1 1 100.0 100.0
= 2 bl 4 2 2 2 1 1 50.0 50.0 1 1 1 1 100.0 100.0
# ) bl 11 5 6 6 2 4 54.5 40.0 14.5 1 -1 1 -1 - 100.0 -100.0
& A L 6 4 2 3 4 -1 50.0 100.0 -50.0 - -
SR ) 5 5 6 1 5 120.0 20.0 100.0 1 1 1 1 100.0 - 100.0
U z L 7 3 4 4 3 1 57.1 100.0 -42.9 1 -1 1 -1 - 100.0 -100.0
=1 Bz bl 8 4 4 2 2 25.0 50.0 -25.0 6 5 1 5 5 83.3 100.0 -16.7
=S 1E L 4 5 -1 1 2 -1 25.0 40.0 -15.0 1 3 -2 1 3 -2 100.0 100.0
= = bl 6 6 3 5 -2 50.0 83.3 -33.3 - -
AR A S AT 1 2 -1 1 1 100.0 100.0 - -
WERME S AT 5 10 -5 3 3 60.0 60.0 1 2 -1 1 2 -1 100.0 100.0
% H AR 2 E ET 2 - 4 1 3 4 1 3 100.0 100.0
/I B BB & Hi BT 2 - - -
B [E BB # E AT 1 -1 1 -1 - 100.0 -100.0 - -
& M AR 37 2F A7 2 1 1 1 1 50.0 50.0 - -
f5 FB AR B o8 T 2 1 1 1 -1 100.0 -100.0 1 -1 1 -1 - 100.0 -100.0
F5 H AR % & AT - - 1 1 1 1 100.0 - 100.0
EHEAFAERN 1 1 - - - -
AKEBAKFGHT - - 2 2 2 2 100.0 - 100.0
A K BB 3 K HT 1 1 1 1 100.0 - 100.0 - -
PNEER & i o R AT - - 1 1 1 -1 100.0 -100.0
~H - BAE 27 40 -13 47 93 -46 174.1 232.5 -58.4 5 5 5 1 4 100.0 20.0 80.0




Z fth D il = e
AR TREMER REE
SHEE | HMAFE| B | HMSE | HM4E | BE | HMLFE | SHM4E | BRE
B F O K 1,137 1,122 15 501 505 -4 44.1 45.0 -0.9
54 (ITI—) 534 494 40 245 236 9 45.9 47.8 -1.9
PR A 294 261 33 140 147 -7 47.6 56.3 -8.7
5 b HX 71 74 -3 38 33 53.5 44.6 8.9
S bHEK 40 34 6 17 13 42,5 38.2 4.3
5b@EKX 129 125 4 50 43 38.8 34.4 4.4
B % m 268 320 -52 97 121 -24 36.2 37.8 -1.6
b= TR ) 71 55 16 34 28 6 47.9 50.9 -3.0
E B 0w 30 34 -4 11 17 -6 36.7 50.0 -13.3
£ ® W 15 20 -5 4 7 -3 26.7 35.0 -8.3
F R 0™ 16 26 -10 10 14 -4 62.5 53.8 8.7
F S ) 29 27 2 11 12 -1 37.9 44.4 -6.5
m R W 7 11 -4 6 2 4 85.7 18.2 67.5
R W 6 7 -1 2 2 333 28.6 4.7
5 &1 21 16 9 8 1 42.9 50.0 7.1
b= I ) 18 12 8 4 4 44.4 33.3 11.1
T S 1 18 17 1 11 4 7 61.1 235 37.6
2 E # 15 18 -3 5 11 -6 333 61.1 -27.8
£ fF 0wW 19 10 11 4 7 57.9 40.0 17.9
b= R 11 8 5 5 455 62.5 -17.0
R AR AT 6 4 3 1 2 50.0 25.0 25.0
HMEME S AT 9 9 4 3 1 44.4 333 11.1
& O ER Bk |y 8 1 7 3 1 2 37.5 100.0 -62.5
NNy N i) 6 5 1 4 3 1 66.7 60.0 6.7
& JE AR # A - -
& M AR 8 27 A7 4 3 1 1 3 -2 25.0 100.0 -75.0
P FH AR B o0 T 7 3 4 2 1 1 28.6 33.3 -4.7
[ HB EB 7% & AT - -
EHEFEERN - -
AKEBBAKFIHET 1 6 -5 6 -6 100.0 -100.0
A K BB 3% K ET 1 1 1 -1 -
NS BB 2 o SR T 3 3 1 1 333 333
TH - BENE 14 13 1 14 10 4 100.0 76.9 23.1




